W RRRNLT i
,,-_c-’-"“': - Iulk 23
S x 01,890 o~
ol R R 94. Il <~ j€e 0
POWERED BY|]W, EA ol N N IR - B
wd Fui i5ie 259N |5 B i
25 Mzioia Goaglh [6u ¢B &y
‘ l l [=— 37.5" MAX. FRAME WIDTH s g fw I é za e |u e = 45 :;
° Bon BT ¥S 53 £co 20
o, iai N T 2og 65
DOOR COMPONENTS MADE IN THE USA QI 8,&2 g O 5 g 58 $§
HExiGEIQ ‘e-,:?' h-2 W
RS s 88° g8
x 2 x
3 2 8 z Su
; e 3.8 00
g adt gk
2 § ok
Glazed Steel Door PS8
§ [}
"NON-IMPACT" B 8 i
Q L]
INSWING / OUTSWING w £ 35
20 <32 5=
¥z oFf <
<3 %° X © £
2 I | Sz
> = h O ® > > <O
< N o >
O — T > D Ly
= L — ] = 3
- gt =% 3 &,
o . S5
= sl |5 €2
= t o]
O e &
o 24 o
EVALUATED FOR USE IN THE STATE OF TEXAS & P
The Glazed Steel Door system described herein complies with the 2018 o Tl
International Residential Code (IRC), Sections R301 & R60% and the 2018 e I L P
international Building Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 E "
subject to the following conditions: 5 S
1. Anchors shall be as listed and spaced as shown in the defails. Anchor z ©
embedment to base material shall be beyond wall dressing or stucco. ‘ £ 5
2. When used in areas requiring wind-bome debris protection this product is 2| | o
required to be protected with an impact resistant covering that complies AHERE
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC. g SIS g
3. Allowable design pressure requirements must be equal to or less than the LE ol o
design pressure rating shown in the design pressure chart, sheet 1 of this S : g
drawing. ) . eIl
4. Conditions not covered by this drawing are subject to further engineering - o g
analysis. S S|le
[e)] o
NESE
TABLE OF CONIENTS g 8 <Qi
SHEET# DESCRIPTION hine : S
1 Typical elevations, design pressures & general notes e it 5 o~ s
2 Door panel detdils {lip lite insert glazing) INSWING + 500 - 55'0 DATE: 12 /1 0 /1 3
3 Horizontal cross sections X SCALE:  N.T.S.
4 Vertical cross fecﬁons OUTSWING +45.0 _45.0 DWG. BY: JK
5 Frame anchoring P LFS
DRAWING NO.:
TX—4419
SHEET ] oF _5

R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-585 Masonite Stee/\C - Drawings\REV 2018 IBQ\TX-4419-20.dwg, TX-4419

@ 2013 R.W, BUILDING DONSULTANTS INC.



i
SN B o
STILE 530 i T o o ro
STILE AR EZ & 8
(LAMINATED WOOD) a2 £+ 3 uo
(LAMINATED WOOD) 25" INTERIOR TOP RAL ;é’:‘i' o 8 LN
(woop) N[ gg% w Y SEO Lw
o 985, " 15 2H Egp 58
N — — AT > GSge ak
= I I !Ia\/"u,“z a>"”_ l‘?xé
R - : =S : Qi i 58° 28
n IS @ T iy ONg aw
—rer . B 24Ga.STEELSKlN——\ £ 5% 28
T 3 Q o
1.18 4L—4 EXTERIOR 118" : ¢ dab §§
PARTICLE BOARD ‘ 2 § E
LOCK BLOCK PR 37
(12" HIGH) : &
[a}
/ 1"\ HORIZONTAL CROSS SECTION R
\2/ "
<3
<
—
Lo
0
b
35.75" MAX, S
PANEL WIDTH p 5 |g 52
L Q=
INTERIOR EXTERIOR § ek
21" MAX _ — p B ) 2 S5
D.L.O. WIDTH 3} x| O
@ #6 X 1-1/2" PH SMS 2 °l =
2 2 %
— GLASS BITE 1/2" & &
wn
INTERIOR 2 (L
Y ———1/2" NOMINAL GLASS THK. m
' )
. / E! 1/8" TEMPERED GLASS 3|°
b IS 12— AIR SPACE z g
[+ 3 s EIS
S & . S ~~—1/8" TEMPERED GLASS 5|8 e
ap x0 S ol 16
=4 b 1 / 0|2 o
.h < iO v £ 3
XT =T o|d] |
<* =2 2 STEEL SPACER s5|NIZ| 5
=@ 39 FOAM CORE ; ol @
= Z — \ Sl | 2
QL o EXTERIOR Q'SO SEALANT (POLYURETHANE ) I
ol - =
~ ARDIARE LOW TACK SEALANT . “Iske
TABLE K 1 < 2012
1) GLAZING DETAIL : 8 > o
Lip Lite Insert Glazing BOTIOM RAIL R B ™~ L
(WOOD COMP.) ™ m SRS
g NN
N ITZ
. oATE: 12/10,/13
MASONITE -~ 1.75" —] s /N T/S
Insert glazed : .T.S.
(Steel) DWG. BY: JK
; CHK. BY: LFS
cwiksgr | VATCH: KWIKSET SIGNATURE SERIES (991) /" 2"\ VERTICAL CROSS SECTION DRAWING N0
DEADBOLT: KWIKSET SIGNATURE SERIES (980/985) 2/ TX—4419
SHEET 2 oF 5

RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-585 Masonite Steel\C - Drawings\REV 2018 {BC\TX-4419-20.dwg, 2.7

© zo13 R.W. BUILDING CONBULTANTS INC.



RAClients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-585 Masonite SteelC - Drawings\REV 2018 IBC\TX-4419-20.dwg, 3.7

\3_/ Inswing shown -

Outswing also approved

[
2 2X FRAMING 2X FRAMING o d
s - o - gty £, 0
\\ | RN £* 8 3P
il it N Gu d8 oY
b EXT. SHEATHING  r/]) - S EXT. SHEATHING ) “o g 25 8y
‘ ' e 5 o
J o DRYWALL 22
4 il > 358 g%
/ ’ ) 2 ow® *gé
/ 1 | #10X2:1/2'PFH , | #10X3"PRH § od; Eg
. [
Kl | WoOD SCREW , " WOoOD SCREW 3 282 'sg
]/4"MAX. i y ]/4HMAX f g_ gd g [a)
# . [ D L
SHIM SPACE | . SHIM SPACE i EORSE &8
i []
T X ° SBE ; § i
O
3 ol : 3 F
N ] = 0000o0] 3
/ DOOR PANEL ~ ? DOOR PANEL ~
/// HEAD: PINE HEAD: “FusionFrame" (1-PIECE]
/ ENDURA WEATHERSTRIP ENDURA WEATHERSTRIP 2
! (QEBD/PE 650) (QEBD/PE 650) < =5
o .. ey}
CORNER PADS b q EXTERIOR INTERIOR EXTERIOR A INTERIOR = ]
(@)%}
(TYP) N\ ol 28
N (2 VERTICAL CROSS SECTION / 3\ VERTICAL CROSS SECTION S N
AN 3N\ 1N 20 3/ ?ﬂg;sggggbggn-mmng \_3_/ Outswing shown -inswing 3 S
\U \y \Uw also approved 3 =
& &
%] 2]
) 0.15" 5l |5
1/4" MAX. e CSINK 1/4" MAX. m
EXT.SHEATHING ~ SHIMSPACE (TYP.) SHIM SPACE EXT. SHEATHING 49
\ \ JAMB: "FusionFrame" / ~lo
" « , 1 OR 2-PIECE S|E
075 _1‘_/"1 075" == o I N /JAMB: PINE ‘ N I A S 5 | L
e " #10 X 2-1/2" PFH e e —— | lol |2
#10X 2-1/2" PFH ii ‘‘‘‘ A
COMPOSITE 2X FRAMING " WOOD SCREW WOOD SCREW ElS|3| @
(G>=0.42) / sIRIE 12
N SNAP-ON : 2X FRAMING Lol @
CAP ENDURA WEATHERSTRIP  ENDURA WEATHERSTRIP (G >= 0.42) S~z
N\ (QEBD/PE 650) (QEBD/PE 650) / Si=
- . . sl
§ 'E'L EXTERIOR <8( 5 §
= SRE
. > };il
! g LvL N = N NS
0 S e aamacee I VM) (727 v/ 40747777/ B \\\\\\N\\N\NN\NN] (T B s e S
i} oaTE: 12/10/13
] 125 ] 125 b= | o5 |- DRYWALL / 48 X 1" PEH SMS INTERIOR \ DRYWALL sE NTS.
#8 X 2-1/2" PFH WOOD SCREW oWe. oY JK
JAMB / HEAD JAMB / HEAD JAMB £ HINGE LATCH #8 X 2-1/2" PFH P
PINE "FusionFrame" “FusionFrame” #8 X 3/4" PFH SMS STRIKE PLATE WOOD SCREW DRAVING 0.
(1-PIECE) (2-PIECE) /"1 "\ HORIZONTAL CROSS SECTION TX—4419

SHEET 3 oF 5

© 2013 R.W. BUILDING DONSULTANTS ING.



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI.- DR-585 Masonite Steel\C - Drawings\REV 2018 IBO\TX-4419-20.dwg, 4.7

ALY
INTERIOR EXTERIOR
DOOR PANEL
/
ENDURA
DOOR SWEEP
/3? / (DBK-R)
/ (@A

A\

INTERIOR

DOOR PANEL

ENDURA \

DOOR SWEEP

PEeED

%

EXTERIOR

4100000

\\/
>

ENDURA
WEATHERSTRIP

//

DOOR PANEL

INTERIOR

(QEBD/PE 650)

VOO

EXTERIOR
ENDURA
WEATHERSTRIP
(QEBD/PE 650)

//

INTERIOR \I\

EXTERIOR

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR {TW CONCRETE SCREW

m VERTICAL CROSS SECTION

W Inswing Adjustable Threshold

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

m VERTICAL CROSS SECTION

\U Inswing Arficulating Threshold

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/"3"\ VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR {TW CONCRETE SCREW

/~ 4"\ VERTICAL CROSS SECTION

\t_l./ Outswing Bump Threshold

4.56" !

INSWING ADJUSTABLE THRESHOLD

456" !

INSWING ARTICULATING THRESHOLD

\4/ Outswing Bump Threshold
NG
2 ‘ i
456" | | 456" |
4 INSWING ADJUSTABLE THRESHOLD 5 INSWING ADJUSTABLE THRESHOLD
IAIAA4565FN ZAl4565RDS

$

MAX. DESIGN PRESSURE = +50 PSF

~—1.4" ‘]

:

- 4.56"

! ' s ———~>}

10 INSWING ARTICULATING THRESHOLD

9 INSWING ARTICULATING THRESHOLD

IACAA4565FN

ZAC4565RDS
MAX. DESIGN PRESSURE = 45 PSF

4.56" ,!

13 OUTSWING THRESHOLD

L,l | - I ]
| 456" | . ! i
1 )}INSWING ADJUSTABLE THRESHOLD 2 )INSWING ADJUSTABLE THRESHOLD 3
ZAlIL4565 ZAI4565FN ZAILAA4565
} n L
! 456" ! ! —— 456" } !
5 }INSWING ARTICULATING THRESHOLD 7)}INSWING ARTICULATING THRESHOLD 8
ZACLA565 ZAC4565FN LIACLAA4565
| ) }
. [ s [l
! 456" [ 456"
17) QUISWING THRESHOLD 12) QUISWING THRESHOLD
ZOBL4565 ZOB4565FN

1OB4565RDS

! 4.56"

14 OUTSWING THRESHOLD
FOB4566

ui
R
P 0
20 w  BS
Q
= 2 uw
o . 2 N R
Owogn 2y
= oo Wk
L. .do
c [ i%
3 9% 22
© OO oo
- KEB GE
3 dp0 0
2> ¥
hoR W
Z O o
g Qmn 40}
& O oo
o 4
° O xz .
ZO
e Sy Ok
G
g 3 : 5 o
¥ Rof ik
o i)
L§ og
b ke
5 & 3
£ o
3
o
O
Q
)
=z
o
=
O
]
w
& @
x ..
a 5o
= o X
i = ©
7]
<
2 S
. =
[ o
O vy
3 oY
o &
& <
a. o
2>
] I Bt 1)
W
e
S
K10
O
8|
£l
S|m %)
= (,) Z
AEEIRE
Eicld] I»
oIN|Z| IS
L:_om ﬁl
o
gl
2 <Q
olT|8
Qo
<l |<
(¢ (6]
AN
NENE
S RIS
o '—O
~lo
N =
oaTE: 12/10/13
ScALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4419
SHEET 4 oF 5

© zo13 R.W. BLILDING CONSULTANTS INC.



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-585 Masonite Stee\C - Drawings\REV 2018 IBO\TX=4419-20.dwg, 5.7

JAMB NOTES:

37.625"

68.81"

B
ty2)
A

TOP OF

6.44" FROM
DOOR PANEL

]
O |
5

» 1

HINGE JAMB

. SEE HINGE
" DEIAL |

SEE HINGE
DETAIL 2

2X FRAMING
{BY OTHERS)

NN

HEAD ANCHORS:
#10 X 2-1/2 WOOD SCREW (PINE JAMB)
#10 X 3" WOOD SCREW (1-PIECE JAMB]

—— aned

1
=
=

™~ JAMB ANCHORS:

6"

#10 X 2-1/2° WOOD SCREW (PINE/2-PIECE JAMB)
N #10 X 3" WOOD SCREW (1-PIECE JAMB)

FLOOR SUBSTRATE MATERIAL
CONCRETE (MIN. 3000 PSi)
WOOD (G >= 0.42)

THE PINE OR "FusionFrame" 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB.

THE FusionFrame" 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY.

CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the corners may be adjusfed to maintain the min.
edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

chor table:

nw

TAPCON® | /4 1-3/4" 2.1/ 3
ELCO " . " .
ULTRACON®| 174 1-3/4 1 8

1
]

38.31" FROM
TOP
OF DOOR PANEL

PLATE

RN uj
...'535’\\?: u“lxz ag
S X010 3 0
Fomigitaiiy b, Wi € o
e "‘..‘ H '00 z E'_ o
Py iT XA £% 2 wwo
s Ot OLW G, - Zr
O ipia Wi, Ll On ol
5 1P SBR[, £ . Fu
guRiuis BEEN|4) Sab I)
¢ k1 IE e 9.‘.“\ 5 & <
A e} P& ] 8o 22
(}\/"c sce ™ co"" < = L 00
?Ié".".. :z: Q) ~W 2 #5359 &“
R LN a>v B8
Yy xin i 2on b
111\\\\\":(\' & 8% gg
x 2 14
v % 8% u
E 5% 9%
o 3 . € o)
) 502 € p
& mod g%
08
n S i
5 gﬁ
£ fal
£ &: 3)
3
o
[&]
=
S
C
= ..
a 7=
=z mj <<
l LIEJ L
A 2
. < &
5 o
8 e}
a
o &
® <
o o
2
] I Bt )
L
ra)
o
O
DEADBOLT SECURITY 2
STRIKE PLATE §
@ 0
/8 &
LATCH STRIKE I~ n
o
2 x
ke
S
a
3

P #8X2-1/2" PFH WS

= #8 X 3/4" PFH WS

4" HINGE

B | SEE STRIKE u,
. PLATE DETAIL w
§ o
SE
B _ =
I A, =0 il
% SILL ANCHORS:
#10 X 2-1/2" PFH WOOD SCREW STRIKE JAMB
1/4" X 2-3/4" ELCO OR
FRAME ANCHORING ITW CONCRETE SCREW
X
#10 X 3" PFH WS<%P/
T I
#8 X 2-1/2" PFH WS —— i?
STRIKE PLATE DETAIL
- #8X 2-1/2" PFH WS
| ® - @’
1 - - ® ® e o
#8 X 1" PFH wsé:. Hle S — #8X3/4" PFH WS 48X 1" PFH W5 <08 Al
" 4" X 4" HINGE oy
AN
\ \\\
HINGE DETAIL 1 HINGE DETAIL 2

10/28/19|ADD "FusionFrame” OPTION &
11/01/16|ADDED THRESHOLDS

NO| DATE

2
1

paTE: 12/10/13

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4419

SHEET 5 ofF 5

© 2013 R.W. BUILDING CONSULTANTS INC.



